14.1.22

LO - I can divide 2-digit numbers by 1 digit.

1.

Using all of the counters, how many 2-digit
numbers can you make that are divisible by 3?

2.

Rosie is calculating 96 divided by 4 using place value counters.
First, she divides the tens. She has one ten remaining so she
exchanges one ten for ten ones. Then, she divides the ones.

Use Rosie's method
to solve
65+5

TE=5

Use <, > or = to complete the
statements.

Use place value counters to work out the divisions.

a) 72 £ 3 c) 65=5 e) 453
b) 92 + 4 d) 48 + 6 f) 64+4
5. Challenge.

Eva has 96 sweets.

She shares them into equal groups.

She has no sweets left over.

How many groups could Eva have shared
her sweets into?



